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2. 2@ +2'® -3” =0
1. x-2y= lope = = g2x+x@x . 3. 5C *+ P - 4l
D X- y—5:>sope—§ (2gz -3 )(2 +3 ):o 1046-24--8 (E)
Perpendicular line through 22" =3" ; 2" #-3"
2,5 -5)=—2(x-2 * 2
(285)=(y -5)=-2(x-2) (ZJ 1 4. log, x* +log, X'5X=|09x(iej
y=—-2X+9 3) 2 X
. _ 2 —
y —intercept=9  C Iogyizx (A) x*-5x=-6
32 x=20r3 (B)
2 4 Kk

-1 7 |=(-22+84-4k)—(-3k —28+88)
5. det M = det
3 -2 11
=2-k=0; k=2 (D)

r z T % 1 .43 *
6. 16C0S-—SiNn—C0S—=C0S— 7. | “14rcosZrisin®| = =4+iX2
8 4 3 3 2 2
. T T T
8sin—cos—cos— 36
8 4 :(1ci32—”)
4sinZ cosZ °
44 =1 (cos 24r)
2sin (D) =1+0i
2 = 1°+0°=1 (D)
2

n(n+1)(2n+1)_ s 39T _,,

8. S,= .S,
6 6

S, 2@230
6

s, =589 o

Squares total=14+30+55=99 (B)
10. By defnfocus is on the major axis.
9. e(4X3*3X2*2“4) —Ine=1=¢° Major Axis =2a; Minor axis=2b=4+/5
letc =x = a=x+2

= 4x® —-3x*-2x+4=0
2 2
Sum roots=%, Product=-1 = (x+2) =x +(2\/§)
= X2 +4x+4=x*>+20

= 4x=16
=>x=4 2a=2(x+2)=12 (C)

2

Quotient= _sum__ =3 (B)
product 4
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2
11. (sinx+cos x)2 :(Ej

- 2 - 2 1
SiN“ X+ 2SIiN X COS X +C0S X=E

. 4
SiN2X=—— A
oc (A)

13. 9 i = 3
x-1) 9x-1

27(9x)—27 -3x=—3
240X =24, X = %0 (B)

15, (%)= (X +3)? + (% -3)
= (1°(x-3)" + (1) (x +3)°
=f(x)
) = [f(x) ©

S5y -2

y+4

3xy +4x =5y -2
4x — 2 = 5y — 3xy

4x -2
f(x)= ,
(x) 5-3x

16. x=

5
X# —
3

18. loga(logs 9) =10°=1
loga(2) =1

A=2 (A)

19. Ja+Jb=y9+4\5
a+2Javb+b=9=4.5
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(E)

a+b=9ab=20 =a=4,b=5

J9+4/5=2+5
Similarly /9-4+5=2-/5

=\9+45 - J9-4,5 =

=4

7+3iﬂ5+2i _29+29i
'5_2i542i 29
=1+i

T . . T
=./2(cos—+isin—) (B
( 2 4)()

~4(2)+2(-1)
14. cosf=—-=—"—"
J20+/14
/70
" ®
17. 5> |4-x|

5—(x2-4)>0, x<-2orx>2
9-x*>0 = -3<x<3

5> |4-x|;

1+x?°>0 forall xe R = intersection: —3<x<3

20. Arccos(sin(Arccot(sec0)))
Arccos sin(Arccot1))

Arccos (sin Ej
4

'IT
2+/5+2-+/5 4

(A)

5—-(4-x?)>0, -2<x<2

(©)
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=5 (D)

23. —2+2+£+E+_—8 g+
3 3 9 9

—2+£+_—8+... + 2+E+E +...
3 9 3 9

9
=3 (D)

25. P(at least one passes)=1-P (neither passes)

=1-(1-p)(1-q)
=1-(1-p-q+pq)
=p+q-pq (©)

. -3 1

26. | X _

b (x+\/§)(x—\/§) 243
B
= (D)

29. pt on P, (-11,0)
d:ﬁGD—ZD—M
J9+4+1

22. 27x%® -kx* +38x-8=0;

X
3 roots —,X,rx
r

product x* =2;87, X =
r{a(5)
k=38(§j
(2x)"(-3y)’(2)

=[50 @

= —120,960x"y>z (C)

w|N

w
00
TN

J-e-0

):57 (D)

—e—~
NlO w|N

24.

w b~

27. x(1+y)=5y-2

x=51y+—_y2,y¢—1 (B)
x%+3x-1 a b

(X +2)(x-1) 42 x-1
x*+3x-1=a(x-1) + b(x*+2)
X=1=3=3b,b=1
x=0=-1=-a+2,a=3
~a’+b?=10 ©)

30. 32007 :10Iog32°°7

— 102007I093

_ 10957.57984

= no.of digits 957 +1 (B)



CoNorwWNE

WITOWOONOTOOOZ>OMOTOE>OOEOOCOCOTM>O

ALPHA INDIVIDUAL SOLUTIONS
2007 Mu Alpha Theta National Convention




